Divide by Negative Powers of Ten (G)

Find each quotient.

38:0,1= 89:0,001 =
78:0,001 = 65:0,1=
5:0,1= 46:0,001 =
22:0,01 = 87:0,001 =
58:0,1= 51:0,1=
6:0,01= 29:0,01 =
85:0,1= 18:0,1 =
53:0,01= 22:0,001 =
20:0,1= 64:0,1=
51:0,01= 18:0,001 =
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Divide by Negative Powers of Ten (G) Answers

Find each quotient.

38:0,1 =380 89:0,001 =89.000
78:0,001 =78.000 65:0,1 =650
5:0,1=50 46:0,001 =46.000
22:0,01 =2.200 87:0,001 =87.000
58:0,1 =580 51:0,1 =510
6:0,01 =600 29:0,01 =2.900
85:0,1 =850 18:0,1 =180
53:0,01 =5.300 22:0,001 =22.000
20:0,1 =200 64:0,1 =640
51:0,01 =5.100 18:0,001 = 18.000
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